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DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x* —2x =2x(3x-1) (3x + 1)

©3x2+6x+3= Bx+1)(x+2)

®3x+6x+3=3(x+1)°
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O S dAlEA ] ofd A2?

@4a2 + 24ab + 9b> @ x%2-14x+49
2 1
©) a2—§a+§ @ 6442 + 32ab + 4b>

® 4x% + 4xy +y?

~&B

a’x* + 2abx + b = (ax + b)?
@ 4a® + 24ab + 9b* # (2a + 3b)?
@ x?-14x+49= (x-7)?

2
00 -3er-(e-)
@ 64a® + 32ab + 4b> = (8a + 2b)?
® 4x% + 4xy +y? = (2x + y)?




4. U TP+ Tay+ 10y O S BT L=2H(FH 271)

@D x+y @x—i—Zy @x—H’)y

@ x-2y ® x-5y

x2 + Txy + 10y? = (x + 5y)(x + 2y)




@ x*+2x+1

@x2 + 3x

@ 2x% + 3x

@ x> +3x+1

® 2x24+2x+1

= x2 + 3x

x(x + 3)
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6. 4a? - 6ab S QAFTEFYT ALY

® 4a(a-b) @ 2ab(a - 3) ® a(a-b)
@2a(2a - 3b) ® 4a*(1 - 6b)

4a? - 6ab = 2a(2a — 3b)




7. 9a2-16b%=-12°]1 3a—4b =4 & W, 3a + 4b 2] ZHS FL5HH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3




5 ? _
(Cesdy) =ar +hay+ 02 @ 4% 0, b ol Hh5tol d(a+b)

@ 25 @30 ® 35 @ 40 ® 45

B ~
(3) +2xgex(3)+ ()

25

——x2+§x —i—i .
T 497 16”7

25 5)
L Ala+b)=4(2+2) =
(a+b) (4 1) =30




9. (x-4)(x+4)2+[ ) =xt-256004]  Jeto] orur

=7

r\o

®-4 @4 ® 8 @12 @)

(x2 — 16)(x2 + 16) = x* — 256




@) Br+1)? = 2(x+1)(x= 3) = Tx2 + 10x+ 7
1 1
® (ar3)(a-3) =43

® (3x+5)(2x—7) = 6x% 4+ 31x - 35

B

D (x+3)2=x>+6x+9

1\? 1
@ (3-3) —P-5+7

® Bx+1)2-2(x+1)(x- 3)
=(9x2 +6x+1)—2(x*-2x-3)
= (9x% +6x+ 1) — (2x% —4x - 6)
=7x2+10x+7

o (o+1)o-3) =4

® (Bx+5)(2x-17)
= 6x% — 21x+ 10x— 35
=6x2—11x—35
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Hol7k 2x Q1 ARG oA 7tz et Az o] Aol & 7}

iSRS |

g g o, Az A7) Ax2EE o] Hole?

@ 4x2+7x+7 @ 4x2 +7x+12
@4x2+14x+ 12 @ 2x% + 7x+ 12

® 2x? + 14x + 12

7}

33

4

(FAER 9] Yol) = (712) x (A=)
= (2x+3)(2x+ 4)
= 4x? + 14x + 12
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(x+y-5)(x—y—5) & WA 4 22

@ {(x+y) -5H(x~y) - 5) @ {x+ (y=-5)Hx~ (y+5)}
OE-5)+3(x-5) -y @ [x+(y-5)(x-y) -5)

® {(x+y) +5H(x-y) + 5}

A= {(x=5) + yH(x - 5) -y} & FOolA x -5 = 1 = X255}
A= Aol 74 @kt




13. 4x’+Axy+9y* = (Bx+Cy)? & o, o] & W=st= A A4+ 4, B, C
of gHg Totu?

O 14 @ 15 ® 16 @17 ® 18

B ‘

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3 A=12

A+B+C=12+24+3=17
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x?+5x+a=(x+b)? N a-b 2 F2?

15
©F

X2 4+ 5x +a = x% + 2bx + b?

5
2b=05, b= —
2

25

=p2 ===

a 4
15
a-b=—
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(a—b)(a+Db)
(-b—a)(b+a)
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(b—a)?

D (a-b)% = {-(a-b)}?




16.

6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24




17. oA 2% —xy-Ay’ ol x-2y E QIR 7 I, & F ol o

A7 (A £ A%)

® 2x -3y @ 2x-y
@2x—|—3y ® 2x+ 5y

® 2x+y

~&B

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy - 2my?

—44+m=-1,m=3

A=-2m,A=6

L 2x2 — xy — Ay? = (x - 2y)(2x + 3y)




18. AAZtY meFo] weol wolrt 16a% - 24a+9 o o, gk §10] dol=?

@ 3a+5 ®4a—3 ® 4a+3

@ 3a-3 ® 2a+5

16a® — 24a + 9 = (4a — 3)?
w2bA] 9F 1 O] dol= 4aq - 3 o|tt.
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D 2 )3 ® 6

a+b=t2fotH,

t(t-3)+2=1r-3t+2
=(t-1)(r-2)
=(a+b-1)(a+b-2)

DA m+n=1+2=3 0|t




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




